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M.S.W. (Fourth Semester)
EXAMINATION, MAY-JUNE 2022

Paper XVIII
SOCIAL PLANNING IN INDIA

Time : Three Hours] [Maximum Marks: 80

   

Note : Attempt all sections as directed.



Section-A

 

(Objective/Multiple Choice Questions)

(1 mark each)

      

Note : Attempt all questions. Choose the correct answer.

P.T.O.
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1. 

(A)  

(B)   

(C)   

(D) 

Which of the following is not problem of Panchayati Raj
institution.

(A) Financial dependency

(B) Pressure of Government

(C) Opportunity of development

(D) Pressure on Gram Sabha

    

(A)   

(B) 

(C)    

(D) 

Which of the following is characteristic of monitoring:

(A) Measurement of quality of plan

(B) Measurement of planning level

(C) Evaluation of plan

(D) All of the above
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3.      

(A)  

(B)   

(C) 

(D)  

Priority of eighth five year plan?

(A) Public health

(B) Development of Education

(C) Employment

(D) All of the above

4.  

(A) 1942

(B) 1948

(C) 1951

(D) 1954

When did the Bhoodan movement take place?

(A) 1942

(B) 1948

(C) 1951

(D) 1954
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5.  

(A) 

(B) 

(C) 

(D) 

On what population was the Gram Sabha constituted in
the begining.

(A) 

(B) 

(C) 

(D) 

6.    

(A)  

(B) 

(C) 

(D)  

Second Five year plan was based on which model?

(A) P.C. Mahalanobis

9 (B) Gadgil

(C) Harrod-Domar

(D) C.N. Raddy
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7. ?

(A) 

(B) 

(C) 

(D) 

Which part of constitution mentions the relationship be-
tween center and state?

(A) Part-6

(B) Part-11

(C) Part-13

(D) Part-14

8.   

(A)  

(B) 

(C)  

(D)  

Which of the following is the Agency of State Planning
Developments?

(A) State level attached Board

(B) State level Coordination Committees

(C) Planning Board

(D) All of the above
P.T.O.
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9.  

(A) 

(B) 

(C) 

(D) 

What is the life expectancy rate of India as per the year
2020

(A) 

(B) 

(C) 

(D) 

10. 


(A)   

(B)   

(C) 

(D)   

Frequently increase of division of labour in society is the
indicate of what?

(A) Growth of society

(B) Growth of poverty

(C) Development

(D) Growth of inflation
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11.      

(A)  

(B)   

(C)  

(D)  

Who is the author of book "Planned Economy for India".

(A) M.M. Niyogi

(B) Jawahar Lal Nehru

(C) M. Vishweshwaraiya

(D) K.T. Reddy

12.   

(A)    

(B)    

(C)   

(D)  

Which of the following is not the work of National Devel-
opment Council.

(A) Measurements of physical resources

(B) Receive of co-operation to public

(C) Evaluate of plan

(D) Guidence

P.T.O.
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13.      

(A)  

(B)  

(C)  

(D) 

Who introduced Gandhivadi Yojana?

(A) Sardar Patel

(B) K. Santhanam

(C) M.N. Chandraswami

(D) Sri Mannarayan

14.      

(A) 

(B) 

(C)  

(D) 

"Bombay Plan" was formulated by whom?

(A) By non-government institution.

(B) By King

(C) By Capitalist

(D) By Government
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15.       

(A)   

(B)   

(C)   

(D)   

When was the National Development Council consti-
tuted?

(A) 6 August 1951

(B) 6 August 1952

(C) 6 August 1950

(D) 6 August 1949

16.          
  

(A)  

(B) 

(C)  

(D)   

Which was the Planning Commission established on the
recommendation of which committee.

(A) C.K. Niyogi-1949

(B) K.C. Niyogi-1950

(C) M.N. Roy-1950

(D) Shree B.K. Niyogi-1950

P.T.O.
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17.    

(A)  

(B)  

(C)  

(D) 

Which of the following is object of fifth five year plan.

(A) Proverty removal

(B) Employment generation

(C) Growth rate increase

(D) All of the above

18. 

(A)    

(B)    

(C) 

(D)   

Which is not the benefit of liberalization?

(A) Increase in foreign investment

(B) Complexity in the licensing system

(C) Privatization

(D) Foreign business opportunities
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19.       

(A) 1985

(B) 1992

(C) 1996

(D) 2014

When was the P.D.S. scheme implemented?

(A) 1985

(B) 1992

(C) 1996

(D) 2014

20.          


(A) 1950

(B) 1952

(C) 1962

(D) 1964

When was the National Programme is framing planning
implemented in India?

(A) 1950

(B) 1952

(C) 1962

(D) 1964

P.T.O.
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 

Section -B

  

(Very Short Answer Type Question)

(1.5 marks each)

  

Note : Attempt all questions.

 

What is monitoring

    

Define Planning

    

Define inquality

      

Write the object of third-five year plan.

   

What is socialism

    

Define Communism.
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     

Define federal policies.

       

Define planning as a instrument.

      

Write the difference between development and growth.

     

Define Family Welfare.



(Section-C)

 

(Short Answer Type Questions)

       
 

Note : Attempt all questions. Each questions carries
21/2 marks. Word limit 75 words.

       

Describe the index of social development.

        

P.T.O.
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Describe the relationship between social planning and
policy.

       

Describe the socialist idealogy in planning.

       

Explain the historical perspective of planning in India.

         
 

Describe the role of federal political system in planning
process.

        

Explain the role of Panchayat in planning process.

         
 

Discuss with examples the rate of social movement in
planning.

     

What is monitoring? Describe its significance.

  

What is social justice?
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 
  

Elaborate on the need of Atmanand English Medium
School in development of education.



(Section-D)

 

(Long Answer Type Questions)

      
 

Note : Attempt all the five questions. Each question car-
ries 4 marks word limit 150 words.

     

Explain the difference between rural and urban in social
development.

OR

      

Explain the scopes of social planning.

        

Evaluate the achievements of eighth five year plan.

OR

P.T.O.
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      

Describe the planning process in India.

       

Explain the coordination of Central and State in Planning.

OR



Explain the role of political parties in planning process.

      

Explain the evaluation process in planning.

OR

      

What is monitoring? Describe its characteristics.

5. 
 

Critically describe the role of five year plans in health
improvement.

OR



Critically discuss the poverty alleviation programs in In-
dia.


